culel_;@

INSTALLATION INSTRUCTIONS

PSB-2330
PLASMA DISPLAY MOUNTING BRACKET

Prior to assembly, unpack carton completely and verify contents.
If you are missing any of the following components, please contact Customer Service at 1-800/582-6480

0000
0000
HEEn
H EEm
pee Y
. Figure 1 . .
(1) Plasma Static Mount Bracket-L eft (1) Plasma Static Mount Bracket-Right
(4) Mounting Buttons-Black Nylon (4) 5/16-18 x 3" Hex Head Cap Screw
(8) 20mm Nylon Spacers (4) 5/6-18 Ny-lock Nuts
(8) M6 x 25mm Philips Head Cap Screws (8) ¥4’ Nylon Spacers

(4) 5/16-18 X 1-1/2" Hex Head Cap Screw
BEFORE PROCEEDING, READ INSTALLATION INSTRUCTIONS COMPLETELY

CA UT I O N I PLASMA DISPLAYSARE EXTREMELY FRAGILE.

1. Usinga5/16-18 x 3" hex head screw inserted from back, , bent lip side of bracket, secure each
mounting button with two 20mm Nylon spacers under the button to bracket (four places) using the
5/16-18 Nylock nuts (see Figure 2 & Figure 3). For units without a power box on the back of the
screen, use the 1-1/2 hex head screws without the spacers.

2. Align the hole pattern on the brackets with the pattern on the back of the display and attach using
enclosed Philips head screws with one ¥4" spacer under the bracket at each mounting point (see
Figure 3, Figure 4, & Figure 5).

3. With the aid of another person, lift the display up to the Chief Mount, aligning buttons of mounting
brackets with dotsin the Chief Mount.

4. Lower safety catch on the Chief Mount to secure the display, making sure catch is completely
engaged.

5/16-18 x 3" -
SOREW 20mm NYLON b 'im it 144" NYLON

SPACERS SPACERS
b MOUNTING
\ BUTTON

ATTACH MOUNTING BUTTONS
SCREEN WITH BRACKETS ATTACHED

NS | B ) B )

—r

AN
T >\ - INTHESE HOLES
__ @ ® L

BENT LIP OF BRACKET

BENT(LIP OF BRACKET
TOWARD SCREEN

Figure 2 Figure 4

ATTACH BRACKETSTO .
SCREEN UTILIZNG THE OUTSIDE Fi gure 5
Figure3

8804-000143 03/10/04
CHIEF MANUFACTURING INC. 1-800-582-6480, Fax: 1-877-894-6918, Email: chief @chiefmfg.com



